RrEELR ¢H2E2h
RidbdatliERr Y Pii

%l'ﬁ'j“_% %1{%&& OO«;‘E fﬁEﬁEﬁFé& OEODEOEOH'IE
B g | fiRO= &3]0« $380x  #pO=

()L ¢ KOS/ %4 § ROB=
* B (AR OB/ %4 2V RO
R 2 éﬁmﬁ#%@+g

’ 51‘7 ‘~3\74\(€i7%)°
TP E
R e fie A
(-) E¥rpEdc |1 145 ) pFt 1
2. 109~144 -] pF 3
3. 73~108 | P& >
4. 72 | pF 0
) T [ Ak 4
2. 1~3 =% 3
3. 46 = >
4. 79 = :
5. 10 x 1z} 0
1. R¥%EF) 4
2. 3% P 5
3. # 3= 0
2. 3= g B
3. # 3 =X 0
1. R4 ¥ 4
2. 3=tmup o)
3. 3= 0
- ks I 15 ﬂl»\
] ;gfwm ERiEaE @ <;%7@
(R1iEw 5 (2370) LRBE )
-) %ﬁﬂﬁzi‘ 20
( )I%i'ﬁf}f('s R
E\z ;i%;ﬁ:; i (<L 358 2 x80%)
[ e &35
(7 o e i prorit 720 g 3 P A 75 4 18 6 ke

o
SR =Y TETOE

(I ParE8S AN SRR LR BR -
(3 v i dicit 20005 )1 7% - 3 B -




